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1| 3 % /2% ) A 2 | EHHEE 137042 6
2 | 5 |l &KA/rE avtd 1 | EFHE 12731 3
3| 2 |FHmE RE/ME 2 |EHS 12%065 4
4 | 1 |81 RH/Ivwp 547 2 |HH&E 1357010 5
5 | 6 BT BEBH/TAT AhT 2 | RKpE¥ER 117566 2
6 | 4 |V /Ui A 1 HHE 117011 1
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3. 1kmZA L bTATN BB (10:00~)
Result
AN v ® F 4 ke FRA XA L JIEAT
1| 3 8 &H/2x) )74 o | EHE 145207048 5
2 | 5 | I&E/MTE 2ty 1 | HEHE 145137061 9
3| 2 |FHE /M 2 |EHHE 145158057 4
4 | 1 & K#/vvs 5 AF 2 |EH&E 145165042 5
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5. 3knA v FATA4TF 2T e N—a—bNEBE (10 -40~)
Result
P ® F 4 AR FRA Z A L JIEAT
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Result
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